CLOSENSE © PRESSURE TRANSDUCER

CSPO1&% - FEIGRYEHTIXEE

> TEGESR, MESRET S
> [RERIEE, ERTEMRIENER

> RS, e
> HFERIEIMEEIE
> IESEERIAG00bar

BASH

BASE

[E£15EE -1~0...1...10...100...250...400...600bar

HHIED 200% F.S (&%)

RIRESD 300% F.S

HIAmER: G1/4, NPTV/4, M14x15

BRIERE M12x1, DIN 43650, Packard, 154

T{EEBE 12 ... 30 VDC

AR SUS304 /316L

BB

BHES 4 .. 20 mA, 2 &4l
0..10 VDC, 3 2l
0..5VDC, 3 &4l
1..5VDC, 3 &4l
0.5..45VDC, 3 £&4 (#te85VDQ)

I=aYEE < 0.5 % F.S typ.

BEER <+10%FS

E[=578 <+03%FS

SR <+01%FS

Ea <+01%FS

N Sz 8] <10 ms

KERTREME < +0.15 % F.S typ. / year

NGBS

IMERE -10 ... +70 °C

NERERE -30 ... +105 °C

NERE -30 ... +85°C

EFRE -40 ... +130 °C

it 50g, 11ms

EN 60068-2-27

TifHfeah <209

EN 60068-2-6 at 10 ... 1000Hz

SR > 100MQ at 100 VDC

R IP65 (DIN 43650 & Packard)
IP67 (M12x1 & EE51%4%)

Hiths 41

T ~20Nm

BRI ~25 mA

(EJesb=r > 10 x107 )%
10...90%F.S

hmEBEs ~60 g

Closense Sensors & Controls

174kRF

s AT

* RERGRIAEN]

K St RINEDUE

* HSRERHVAGEHRIRS
* ETIERE

o BB Tk



CLOSENSE ® PRESSURE TRANSDUCER

IMER~T
| 0 | A
: + |
:“ 1 M12x1 ‘
Bl ; ‘ I 1T .
i 1 ‘ o :i 8[
‘ ] o
| S N— =
N ¢23‘ﬂ
g :
| S
| 1 SW22/4 \ SWZZM\’\ 1 | ]
‘ ] ‘ ] SW22/4 [II: i I[;,L w iswzzm L
| | ! | | ‘ [ i |
‘ [ ! | | © < 0
3 ; \ ‘ 1 IH " | ! | o ‘ | 1 | ) J |
| ! ‘ ‘ G1/4 ENB37
f NPT1/4 14x1.
‘ G1/4 ‘ |ttt ¥ 2
pigicti=1:] BSER
CSP6146 - A-016G - 00
=7 M12x1 Pin | BV | Rt
N 1 | Bk FBIE+
EHEO ‘ 2 | e oV
3 = (G3/8 JMELX 3 n.c B+
4 = G1/4 9MEL
4 n.c n.c
8 = 1/4-18 NPT #4MZzy
M= HE DIN 43650 i T espstats | eersian
BBSEE 1| EBiEs FE B+
0 = BE¥&5l 2 Rt oV
2 = Packard, 3 pin 3 | ne G+
5 = DIN 43650, 4 pin = P.E P.E
6 = M12x1, 4 pin
AL e Pin | EBidiat | EBEmRL
BWHES :
A= 4.20mA 1| i | i
B = 0.10VDC 2| i+ ov
C=0.5VDC 3 | nec i+
D =05..45VDC EiEa|s Hie | BaEd | e
E=1..5VDC
- | iR+ FEiR+
[£735EHE (bar) % | Hidk i+
000 = -1..0 bar 100 = 0...100 bar = e oV
004 = 0..4bar 160 = 0...160 bar
=] n.c n.c
006 = 0..6 bar 250 = 0.. 250 bar
010 = 0...10 bar 400 = 0...400 bar

...... 600 = 0..600 bar
[EHEERIE-1~0 ... 600barz [BYEEIER

EWAESit]

G=%E A=9% C=88%
BBAKE

00 = F&48 (ZhA)

02 = 23

XX = TEH

Closense Sensors & Controls



